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4 - What is Arithmetic Logic Unit? (3®TUId d& SPTS 94T 8?)
= What is Control Unit? (U¢d giHe =1 gIaT 3)
= What is Memory Unit? @R qﬁ? T BIdt B)
= What is the language of computer? (PR P UIUT T § ?)
d Computer Dl Memory Unit 1024 = 9 gl Fi AT et % ?
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 Addition

e Subtraction

 Multiplication

* Division

e Logical operations (AND, OR, NOT, XOR)
e Bitwise operations (shift, rotate, etc.)

What is Control Unit? (HW@?[ I]ﬁE' HIT Eﬁ?IT %)

Control Unit (CU) is a part of Central Processing Unit (CPU). It is Control the
operation, fetching instruction and manages the flow of data between CPU and
computer other parts. CPU is the brain of Computer.
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What is Memory Unlt‘? GEl

Computer@fMemoryﬁStorage Capacuty W%ﬁ'@ﬂﬁfr@r Unit (3915 ) & | HANRTaT
*+ * T Capacity W%stﬂﬁaﬁéaﬁ?%é\@ KB, .MB, GB:3caTTc |

0JT1 =1 bit (fs<)

4 bits =1 nibble (Tsse)

8 bits =1 byte (dIS<)

1byte =1 Character (H{Fc3)

1024 bytes = 1 KB (Kilobyte) f&helldrse
1024 KB = 1 MB (Megabyte) H3TdSC

1024 MB = 1 GB (Gigabyte) 3fee1Sc
1024 GB = 1 TB (Terabyte) cdSc

1024 TB =1 PB (Petabyte) Ucreisce

1204 PB =1 EB (Exabyte) TddldIsc
1024 EB =1 ZB (Zettabyte) SicEse
1024 ZB = 1 YB (Yottabyte) Jicrdisc

What is the language of computer? (PHCY DI HTIT 1§ ?)

Wa"rlﬂmamary YT g, STS-RI U Rt &1 3@ (Digit) TR HIH SRl g dTH Binary YT H Rt &l 8
&R BIA & 0 3R

Computer Dt Memory Unit 1024 [ | gt i [t STt % ?
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3CERUT: Ig 58 g T IOM fhaT ST g
270 =1

271 =2

27 =4
2A3=8

274 = 16
2A5 =32
276 = 64
277 =128
278 = 256
2A9 = 512
2710 = 1024
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B Study Materials: Video tutorials, Article, Practice File, Notes, eBooks
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